2023—2024FF B "FH= ARESNNFRAFNE

FiHA  BEEZIN
SR




O S—abs ik
O E85 3E

i
B5

Ei

X

R

Eit
H

BERRT | BirRR—a, RBVEIEM



SB—ERD %R




—, EFRAEEF10ME , F&357 , H3053 EEDRE LA IE
IR, RE—IMEFSEEEKRE | iBSIEREIRA2BInEIRRE
&a~.L)

1. SNE, E8mERARRAYELZ2023, O0A = OB, NIRBZRTHIZZE

B O A
1 1 )
0 2023
1 1
A. 2023 LB/ —2023 C Py ~ 073
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 =

16 17 18 19 20 21 22 BEERS




it & it VR
7,

2. BEERSFINTELIF S RBESEH R EEBRE. FYIER
“TonE=F P ECIoR XMEI R XEREZREF |, FIOXIREE

I

il

IR
N

P

5 6 7 8 9 10 11 12 13 14 15 <=
16 17 18 19 20 21 22 BEERR

[—
DN
oo
|~
o1




it & it VR

3. 20235E5H28H , BEEBTEHA MCO19EFK B HinEEE
kIl , CO19RJHEFLI186000F A |, 15EE 186000 R FICELEATE
A0 )

A. 0.186 x 105 R/ 1.86 x 10°

C. 18.6 x 104 D. 186 x 103

4, —FARARBZERERR: cm)UBH=F <

HORY EFTR, B =0, 7\,

|||II||I||||III|I||I|III|||||||II||||III|III||II|I|Illl|||II|IIII||III‘IIII|IIII|IIII|IIII|

f\\\ngLABEgE],ﬁ, ;\\\A\ BRT.UE‘ZE,‘JQUJE%]W. 01 2 3 4 5 6 7 8 9
7, WCD =( )

A. 3.5cm B/ 3cm C. 4.5cm D. 6cm
1 2 3 4 5) 6 7 8 9 10 11 12 13 14 15 «
16 17 18 19 20 21 22 EEZER




it & it VR

5. —e—RARgGES 2 DR )

X <4
A. —1<x<4 B. x<4 C. x<3 N 3<x<4
6. WNE, —RTATF AL \
SiiTeifa, BEIrStas—REITE <
OOMIKBAERT AP, AP <G
21 =155° 22 =30°, NI23MEHS 775 ______ S
( ) U
A. 45° B. 50° qd 55° D. 60°

1 2 3 4 5 6 7 8 9 10 1l 12 13 14 15 4=
16 17 18 19 20 21 22 EEZRZ




7. NoipE R E eI Z( )
A. EfBEE

R EHHINFINEE

C. EROFNEP—RBRE72°

> 2 N ey 312
D. BRI HRERA

1 2 3 4 5 6 7 8 9 10 1l 12 13 14 15 4=
16 17 18 19 20 21 22 EEZRZ




it & it VR

8. FLAIEIKIA

5208 R | FEitETEBAR ARSI RIS R

RISAINOEGE E T SK , BAB 135145 ARBIEIRAZL

I

FHS () 12% 13% 14% 15% 16%
ABAN) 2 = 3 3
ETNFITE | AZRMMEYE( )

A. PREL, BE
C. Y&, F

1

2

AN

3

4

5

6 7 8
16 17 18 19 20 21 22

7

B. REX , HE

R, {3, RE

8 9 10 11 12 13 14 15

) Y

BEEIZEEF



it & it VR

HASFHTER) (25
fT—ER+E

9. JTEAR

pr— ' ——

0517

=) H, ICHESIX

<3

ENZ? HKER: REEXIT2402, ESEXITISE, B54
712K, REJLXANELIES? HRRExKANE LIES, HAES
( )

X X+12 X %
© 240 B. —=——12
240 150

240 150
C. 240(x—12) = 150x

R 240x = 150(x + 12)

1 2 3 4 5 6 7 8 9 10 1l 12 13 14 15 4=
16 17 18 19 20 21 22 EEZRZ




it & it VR

10. EFEERAMIRExoyH, R(1,m), (3,n)EHiI%

y = ax? + bx + c(a > 0)_k, &L "SRR
NtAIEESBEIZE( )
ﬂ§<t<2 B. 1<t<3

C. 0<t«1

1 2 3 4 o5 6 7 8 9 10 1l

é%X—tEm<n<c

12

D.

13

l<t<1
2

14

15

16 17 18 19 20 21 22

«

IREZERR



sB—ab AFikiFRR




—. B . (KBS |, 8)viizg . E155)
1. %§=§, Mlab = 6 .

12. BEl—Ic R AFEx? — 5x + 2m = 05— B2, MB—RA 3.
13. W0, —FMEMAAG-25)HE, Syt A\ [
FISB(0,1) RETBZITAC(m, n), M2m — nfES B

-1 _ O > X
-l c/

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 =

16 17 18 19 20 21 22 EEZER




P ERFCCAASOE R TS, AW RRREN —L AR, METHRIAREL, F:
https://d.book118.com/608001055132006063



https://d.book118.com/608001055132006063

